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tied for 3. The exact # of
miles doesn’t matter, they are
both giving a range vs. leaving
it out.

6th. GPS is more specific than
“location tracking”

2", “Nearby” is more specific.

Story

Product

Epic

Good split

Bad split. Not valuable to
customer

Good split
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Bad Split. Encryption by itself

1st Product .,
isn’t valuable to customer.

8th. Specifies implementation
technology that is immaterial
to the user. Eg: “Angular2” is Epic
used by implementers, “GPS”
is used by customers

Bad Split. Data transfer by itself
isn’t valuable to customer.

7, Epic Good Split
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tied for 37. The exact # of
miles doesn’t matter, they are
both giving a range vs. leaving
it out.

5th

Story

Story

Product

Good Split

Good Split

Bad Split. User interface is not
valuable to customer by itself.



